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1. (A) Discuss the characteristics of financial transacuon

OR

| Explain the charactenstlcs of financial market. . \
(B) Define in one or two lines. 0

(1) Capital 0

: (2) ' Finance

| Asse S
R
6“6 present value & discounting method for financial calculation. . 14

risk measurement.

2

Discuss the basic ideas of

(B) Give the meaning of following :

(1) Annuities
(2) Rate of return
(3) Discounting rate

(4) Volatility . -
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4.

(A) Examine the theory of interest rate given by Keynes. 14
OR '
- Discuss the method of charging interest rate by banks & financial institutions.
(B) Define. | . 3
(1) Rae of interest |

(2) Financial market

(3) Risk
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. (A) Explain the meaning and indicatory of economic development. | - 14

OR
a note on ‘The physical

Give the meaning of economic development and write

quality of life index’.
(B) Multiple Choice Questions.
(1) Economic development is @
(a) single dimensional process
(b) multi dimensional process
(c) concept of developed countries

(d) None of the above
v of life index (PQLI) 15 developed by

(2) The physical quality O
i (b) Marshall

(c) MorTis (d) Amartya Sen
(3) The sign of coun
(a) higher stan

(c) more and m

try’s development is
dard of living (D)
ore industries (d)

higher per capita income
more means of transport

(4) Per capita income means
(a) Personal income (b) Disposable income
(c) Average income (d) Income of every citizen
2. (A) Explain the concept of balance growth strategy. 14
OR ,
~ Explain the concept of unbalance growth strat€gy. |
(B) Multiple Choice Questions. 4
(1) Who explained the concept of unbalanced growth strategy 7
(a) Pigou (b) Hirschman
(c) Adam Smith - (d) Keynes
(2) Asper big push theory :nvestment must be made first 1n
(a) direct productive activities(b) all sectors of economy
(c) social per head capital (d) all the above
p.T.O
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3. (A)

(B)

4, (A)

(B)

—  NA_1IMN

(3) Because of unbalanced growth invention get
(a) Discourage (b) Encourage
(c) Stable (d) None of the above
(4) Harrold’s model of growth depends on |
(a) capital productivity (b) saving income ratio

() (a)and (b)both (d) labour productivity
Give a meaning of Human development. Discuss the indicatory of human
development. i - | 14
| OR
Explain the concept of human development index (HDI), human poverty index (HPI),
.gender development index (GDI). |
Multiple choice questions. 3

(1) Which of the following is not measure of human development ?

(a) HDI (b) GDP
(c) HRD (d) HPI
(2) Who developed human poverty index ?
(a) USA (b) UK
(c) UNO (d) IMF
(3) Which is included in gender index ?
(a) GDI - (b) GEM
(c) HPI (d) (a) and (b) both
Discuss the differences between administration and management. 14
| OR
Explain in detail the concept of transparency and accountability.
Multiple choice questions : | | 3
(1) The term management relates with
(a) policy formulation (b) policy implementation
(c) (a)and (b) both (d) decision making
(2) Administration is concerned with
(a) financing | (b) marketing
(c) policy formulation (d) none of the above

(3) Transparency in administration means
(a) unfettered access to public(b) reliable information to public
(c) none of the above (d) (a) and (b) both
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1. (A) Explain basic problems of an economy and role of price mechanism to solve it.a. 14 ™
. OR »
Give th.e meaning of business economics. Describe the scope ©f businéss
€COnomics. _
(B) Multiple choice questions. N | Vgl
(1) Business activity is a a4 W é
(a) economic activity (b) social activity
(c) religious activity (d) politicalsaCtivity
(2) Business economics is E W .
(a) macro in nature (b) ¢micro in'nature

~ (c) international in nature #(d) ‘mone of the above
(3) The main objective of a business organisation
(a) prestige Y (b)smpower
(c) prefit = T @ "(d) | production
(4) Economicproblems arisebecauseof
- (a) _scarcity of resources
(b)/ alternative uses of resources

mn(c) | unlimited wants of the people
¢ (d)" all'the above

(A) What is elasticity of demand ? Describe the factors affecting price elasticity of

“demand. . 14
y OR
Explain in detail the law of variable proportions.
(B) Multiple choice questions. 4
(1) production function shows the relationship between ____ factors.
(a) production and factors of production
(b) production and purchase
(c) . production and sale
(d) production and demand
(2) Demand for salt 1s
(a) elastic (b) 1inelastic
(c) perfectly elastic (d) perfectly inelastic
A-102 11 - P.T.O.



(3) A fall in the price of commodity leads to
(a)  fall in demand

(b) afallin the consumer real income
(¢) arise in the consumers real income
(d) noneofthe above

(4) According to current thinking the law of diminishing returns applies to

(2)  agriculture sector (b) mining sector
(¢) industry sector (d) all sectors of production

(A) Explain the concept of average and marginal revenue in perfect compentlon

monopoly and monopolistic competition market.
OR
Explain how price and output are determined under monopoly
(B) Multiple choice questions.

(1) If the individual firms demand curve is honzontal it shows that
(a) thefirmisa price maker
(b) thefirmisa price taker ¢
(c) marginal revenue = margmal cost
(d) none of the above

(2) Efficient allocatign of resoureé8is possible under,

(a) ¢monopoly " 4 (b) monopolistic competition
(c) perfeet cornpetltlon = (d) all the above

(3) Which'is the unportant feature of monopolistic competition ?
(a) Abnormal profit (b) single producer
(¢) "(a) and (b) both (d) product differentiation

[_(A) “Biplain the full cost pricing method.
R OR
" Discus marginal cost based pricing policy.

B) Multiple choice questions.

(1)  Whom a new product 1s introduce in the market, firm to fix price

marginal cost.

(a) above . (b) Dbelow
(c) equal (d) none of the above

(2)  For short term price fixing _____ pricing policy is used.
(a) total cost (b) fixed cost
(¢) marginal cost (d) all the above

(3) Skimming pricing is known as charging price in initial stage.
(a) average (b) fixed )
() low (d) high
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